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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Urdu, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. 

In this booklet candidate responses have been chosen from November 2020 exam series to exemplify a range of 
answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes and pre-release material used here are available to download from the School 
Support Hub. These files are: 

November 2020 Question Paper 2

November 2020 Paper 2 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

http://www.cambridgeinternational.org/support
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How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments. 

Example Candidate Response – Question 1, High Examiner comments

How the candidate could have improved their answer
The candidate should have spent some time thinking about the meaning of each word. If they were unsure, candidates 
should have looked in the passage to see how the word had been used there. However, they were required to 
create their own sentence to demonstrate the meaning of each word and should not have copied sentences from the 
passage.

Common mistakes candidates made in this question
Candidates who were not sure about the meaning of the word, tended to put the word in a sentence without thinking 
about the meaning of the word. This was where candidates lost marks.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine 
their exam technique.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 
helps your learners to refine their exam technique.

Lists the common mistakes candidates made 
in answering each question. This will help your 
learners to avoid these mistakes and give them 
the best chance of achieving the available marks.

Often candidates were not awarded 
marks because they misread or 
misinterpreted the questions. 

The meaning of the 
word is not clear in 
Questions 1b, 1c, 1d and 
1e.

Mark for (a) = 1 out of 1
Mark for (b) = 0 out of 1

1
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Answers are by real candidates in exam conditions. 
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in 
the classroom to improve their skills.

1
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Question 1

Example Candidate Response – high Examiner comments
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Full marks are awarded to the 
candidate for Question 1.

Mark for (a) = 1 out of 1
Mark for (b) = 1 out of 1
Mark for (c) = 1 out of 1
Mark for (d) = 1 out of 1
Mark for (e) = 1 out of 1

Total mark awarded =  
5 out of 5

How the candidate could have improved their answer
The candidate scored full marks for this question.

11
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Example Candidate Response – middle Examiner comments
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Incorrect use of the word.

The meaning of the word is not 
clear in this answer.

Mark for (a) = 1 out of 1
Mark for (b) = 1 out of 1
Mark for (c) = 0 out of 1
Mark for (d) = 0 out of 1
Mark for (e) = 1 out of 1

Total mark awarded =  
3 out of 5

How the candidate could have improved their answer
•	 (c) The candidate did not use the word correctly.
•	 (d) The candidate should have clearly shown the meaning of the word.

1

21
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Example Candidate Response – low Examiner comments
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The meaning of the word is not 
clear in Questions 1b, 1c, 1d and 
1e.

Mark for (a) = 1 out of 1
Mark for (b) = 0 out of 1
Mark for (c) = 0 out of 1
Mark for (d) = 0 out of 1
Mark for (e) = 0 out of 1

Total mark awarded =  
1 out of 5

How the candidate could have improved their answer
The candidate should have spent some time thinking about the meaning of each word. If they were unsure, candidates 
should have looked in the passage to see how the word had been used there. However, they were required to 
create their own sentence to demonstrate the meaning of each word and should not have copied sentences from the 
passage.

Common mistakes candidates made in this question
Words in (b) and (c) were challenging for some candidates and they were unable to convey the meaning in accurate 
sentences.

11
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Question 2

Example Candidate Response – high Examiner comments
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An incorrect synonym is given.

Mark for (a) = 1 out of 1
Mark for (b) = 0 out of 1
Mark for (c) = 1 out of 1
Mark for (d) = 1 out of 1
Mark for (e) = 1 out of 1

Total mark awarded =  
4 out of 5

How the candidate could have improved their answer
The candidate needed to provide a correct synonym of the word given in (b).

11
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Example Candidate Response – middle Examiner comments
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Incorrect synonym.

Incorrect synonym.

Mark for (a) = 0 out of 1
Mark for (b) = 0 out of 1
Mark for (c) = 1 out of 1
Mark for (d) = 1 out of 1
Mark for (e) = 1 out of 1

Total mark awarded =  
3 out of 5

How the candidate could have improved their answer
The candidate needed to provide a correct synonym of the words given in questions (a) and (b).

1

2

1
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Example Candidate Response – low Examiner comments
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Incorrect synonym.

Incorrect synonym.

The candidate writes a phrase 
which is not required in the 
question.

The candidate writes two words 
but because one is incorrect, no 
mark is awarded.

Mark for (a) = 0 out of 1
Mark for (b) = 0 out of 1
Mark for (c) = 0 out of 1
Mark for (d) = 0 out of 1
Mark for (e) = 1 out of 1

Total mark awarded = 
1 out of 5

How the candidate could have improved their answer
•	 The synonyms in (a) and (b) were not correct. 
•	 In (c), the candidate wrote a phrase instead of a synonym. 
•	 In (d), the candidate wrote two words: one was correct, and one was incorrect.
•	 Candidates should have made it clear which was their final answer so that a mark could be awarded.

Common mistakes candidates made in this question
•	 In this question, candidates were required to write synonyms of the given words; therefore, their answers should 

have been one word only. Many candidates did not do this properly.
•	 Sometimes, the candidates provided more than one answer for a question. If one of those words was incorrect, 

they were not given the mark. 
•	 Many candidates changed the form of the word.
•	 The answer should mean exactly the same as the word in the question.
•	 Struggling to spell words which made the meaning unclear.
•	 Some candidates provided an antonym instead of a synonym in (a) and (c).

1

2

3
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Question 3

Example Candidate Response – high Examiner comments
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Full marks are awarded for 
Question 3.

Marks for Content
Mark for (a) = 3 out of 3
Mark for (b) = 3 out of 3
Mark for (c) = 3 out of 3
Mark for (d) = 3 out of 3
Mark for (e) = 3 out of 3
Mark for Quality of Language = 
5 out of 5

Total mark awarded =  
20 out of 20

11
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How the candidate could have improved their answer
The candidate answered all the questions correctly, covering all the points required. This answer also satisfied the 
mark scheme criteria of 5 marks for Quality of Language.
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Example Candidate Response – middle Examiner comments
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The candidate misses detail in 
this answer.

The candidate misses two 
points of detail in this answer.

Marks for Content
Mark for (a) = 2 out of 3
Mark for (b) = 3 out of 3
Mark for (c) = 1 out of 3
Mark for (d) = 3 out of 3
Mark for (e) = 3 out of 3
Mark for Quality of Language =
4 out of 5

Total mark awarded =  
16 out of 20

1

2

1
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How the candidate could have improved their answer
In (a), the candidate missed one point and in (c), the candidate missed two points. Therefore, no marks were awarded 
for the missing information.
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Example Candidate Response – low Examiner comments
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The candidate misses two 
points of detail in this answer.

The candidate misses one 
point of detail in this answer.

The candidate misses two 
points of detail in this answer.

The candidate misses one 
point of detail in this answer.

The candidate misses one 
point of detail in this answer.

Marks for Content
Mark for (a) = 1 out of 3
Mark for (b) = 2 out of 3
Mark for (c) = 1 out of 3
Mark for (d) = 2 out of 3
Mark for (e) = 2 out of 3
Mark for Quality of Language =
5 out of 5

Total mark awarded =  
13 out of 20
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2

3

4
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How the candidate could have improved their answer
The candidate missed two details in (a), one detail in (b), two details in (c), one detail in (d) and one detail in (e). This 
candidate should have included all the relevant information required to answer the questions. 

Common mistakes candidates made in this question
•	 Some candidates did not read the question carefully to make sure they answered as required. 
•	 The number of marks available indicated the number of pieces of information required in the answer so candidates 

should have checked this before they answered. 
•	 Candidates should have made sure all relevant details required were given in their answers.
•	 In (b), candidates missed the key point in the answer.
•	 In (c), candidates missed out Internet in their response.
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Question 4

Example Candidate Response – high Examiner comments
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Full marks are awarded to the 
candidate in Question 4.

Marks for Content
Mark for (a) = 3 out of 3
Mark for (b) = 3 out of 3
Mark for (c) = 3 out of 3
Mark for (d) = 3 out of 3
Mark for (e) = 3 out of 3
Mark for Quality of Language =
5 out of 5

Total mark awarded =  
20 out of 20

11
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How the candidate could have improved their answer
The candidate answered all the questions correctly, covering all the points required so there was no room for 
improvement in this answer. This answer also satisfied the mark scheme criteria for 5 marks for Quality of Language.
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Example Candidate Response – middle Examiner comments
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The candidate misses detail in 
their answer.

The candidate misses detail in 
their answer.

The candidate misses some 
detail in this answer.

Marks for Content
Mark for (a) = 3 out of 3
Mark for (b) = 2 out of 3
Mark for (c) = 3 out of 3
Mark for (d) = 2 out of 3
Mark for (e) = 2 out of 3
Mark for Quality of Language =
5 out of 5

Total mark awarded =  
17 out of 20

1

2

3

1
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How the candidate could have improved their answer
The candidate missed one detail in (b), (d) and (e) so should have ensured that they provided sufficient detail to be 
awarded the available marks.



Example Candidate Responses - Paper 2

22

Example Candidate Response – low Examiner comments
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The candidate misses two 
points of detail in this answer.

The candidate misses all the 
details in this answer.

Although the candidate's 
language is good, 3 marks are 
deducted for scoring no marks in 
4b and 4e.

Marks for Content
Mark for (a) = 1 out of 3
Mark for (b) = 0 out of 3
Mark for (c) = 3 out of 3
Mark for (d) = 3 out of 3
Mark for (e) = 0 out of 3
Mark for Quality of Language =
2 out of 5

Total mark awarded =  
9 out of 20
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2

3

1
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How the candidate could have improved their answer
The candidate missed two details in (a) and did not give any relevant details in (b). The candidate did not attempt an 
answer to (e). Although the Quality of Language of the candidate was good, 3 marks were deducted for scoring 0 in 
both (b) and (e).

Common mistakes candidates made in this question
•	 It was important for candidates to attempt to answer all the questions because answers that scored 0 for Content 

or with no response could not contribute to the overall Quality of Language mark. Therefore, marks were deducted 
from the Quality of Language according to the table given in the mark scheme.

•	 In (d), few candidates gave their own opinions rather than focusing on the information in the text.
•	 In (e), using information from their own experience rather than what was in the text.
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Question 5

Example Candidate Response – high Examiner comments
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Full marks are awarded for 5a 
and 5b.

Mark for (a) = 10 out of 10
Mark for (b) = 5 out of 5
Mark for Quality of Language =
5 out of 5

Total mark awarded =  
20 out of 20

How the candidate could have improved their answer
The candidate included 10 relevant pieces of information in (a) and demonstrated the ability to express their personal 
point of view and gave an explanation in (b). The candidate was awarded full marks so there was no room for 
improvement in this answer.

11
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Example Candidate Response – middle Examiner comments
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The candidate writes only six 
points for this question.

Mark for (a) = 6 out of 10
Mark for (b) = 5 out of 5
Mark for Quality of Language =
5 out of 5

Total mark awarded =  
16 out of 20

How the candidate could have improved their answer
The candidate provided six relevant pieces of information in (a), scored full marks in (b), and also gained full marks for 
Quality of Language. To improve this answer, the candidate needed to include more relevant details in (a).

11
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Example Candidate Response – low Examiner comments
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Although the candidate gives 
a lot of information, only 3 marks 
are awarded for 5a. The candidate 
should read the question carefully 
before answering. They are 
required to pick points from both 
passages regarding the positive 
and negative effects of media.

In 5b, only personal opinion 
is expressed but no explanation 
is given as the question requires 
them to explain their point of view.

Mark for (a) = 3 out of 10
Mark for (b) = 2 out of 5
Mark for Quality of Language =
5 out of 5

Total mark awarded =  
10 out of 20

How the candidate could have improved their answer
•	 Although the candidate gave a lot of information, only 3 marks were awarded for (a).
•	 The candidate should have read the question carefully before answering. Candidates were required to select 

information from both passages regarding the positive and negative effects of the media.
•	 In (b), the candidate gave a personal opinion but there was no explanation of their point of view which was required 

by the question and, therefore, this limited the number of marks awarded.

Common mistakes candidates made in this question
•	 It was important for candidates to stick to the word limit. There was some leeway, but anything which exceeded the 

word limits given in the mark scheme was not marked.
•	 In (a), few candidates gave an introduction. Candidates should get straight to the point and mentioned as many 

relevant points as possible from both passages.
•	 Question (b) required candidates to demonstrate their ability to provide varied and interesting ideas, showing an 

element of flair and imagination and a capacity to express a personal point of view.
•	 Both parts of the question should have been answered to access the full range of marks available.

1

2

1
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